WX HRREEER B2 Ceramic Vitreous Enamelled Rheostats

AR & Body Color

4+ /& Standard(Green 4 &)
AR . Marking

(RBE P T RN LAFIR)

(According to the customer request to

provide corresponding identification)
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12.5W 7 16 | 22 16 | 17 3

25W 40 o1 | 45 27 16 | 13 10.2] 5.5

40W 50 | 63 62 | 27 | 16 | 13 10.2] 5.5

100W 82 | 65 91 | 27 | 16 | 13 10.2] 5.5

120W 82 | 76 91 | 27 | 16 | 13 10.2] 5.5
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150W 99 | 78 110 27 | 16 | 13 10.2] 5.5

300W 180135170 45 | 16 | / 10 |/
500W 230 135 /210, 60 | 16 | / 10
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WX HRREEER B2 Ceramic Vitreous Enamelled Rheostats

@ 51t Feature

(1) 7T 324k % F 3 K Fo dd 5% I X,
More shaftlength &shape are available

Q7 FE X, MARE

High power, stable resistance

O & X ek
Packed in boxes

@S £ i8Reference Standards

JISC5201-1

@ i3 451 Physical Characteristics

@ =245 1% Electrical Characteristics

ERIT . FREAEE N
Total mechanical travel 280C £10C Range of nominal resistance 2:2-8.2KQ
R ) 4E FLAE AL £

j] =0.15N.m Resistance tolerance F10%
Starting torque -
= SR A
& Mark Termi . <0.2% o1 0.1Q
o B o . _ erminal resistance
5. ARARILE. AFRE. FIEF A BAT Vil
£ S AL
Type, nominal resistance,resistance tolerance Insulation resistance Ri=1GQ(500Vdc)
Manufacture date, Trade mark %% WL
FEAE Insulation voltage 1000Vac
i 10 pcs/box RS AR .
Standard package M . 300C
ax heating temperature
ab
@ £ ftPeformance
3X. 350 B R Iy ik
Test [tems Test Methods(JIS C 5201-1)
T 12.5W~1500W
Rated power
= JE TS E _ C ~+ Y
Thermal cycles 33 C~300C
Y 5h 10~200HZ,40m/s*,3h
Vibration AR< +=3%R
YR RN -55°C,30min, 85°C, 30min 45 2R3k
Temperature cycling AR< +3%R, R1=>500MQ
X # 40+2°C,RH:95%~98% 48h
Moisture AR< £3%R, R1=100MQ
By R<1KQ:10000 cycles
lLoad wear-resistance R>1K€Q:1000 cycles, AR< +=5%R
» 60~100.%/min, 150m/s*,4000.% ,
Collision WA AR R AT, AL
NN 150m/s?, 5min 3%,
Centrifugal vy, FiF, #LE, LAIG)
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